Calculate Linux - Bug # 374: !'ICould not find the root block device in UUID=

Status: New Priority: Normal
Author: DeD»DuUb°N+D°DY:D NE DD, DYDY, YD ERHENEY:
Created: 10/20/2011 Assignee:
Updated: 10/20/2011 Due date:
Subject: IICould not find the root block device in UUID=
Description: CLDX 11.9 NfNeN,D°DY:D¥D2D»Dubs Ne BB, NeD°D° D14D° nilfs2
DYNED, B-D°D3NENfD-D°Pu D2ND D°DuN,;
>> Determining root device
IICould not find the root block device in UUID= ...
Please specify another ... or g to skip
DPuN«b»D, B2D2PuN«N,D, /dev/sdbl , N,D¥: B-D°D3NEN FDID°DuN,NeNe
DuN«D»D, B¢ NEPY:D ¢ NfNeN,D,N,NE N.D¥%DIDu D-D°D3NENfDITD DN, NeNe
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